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Error, 
inches

Effective diameter of head .................................. 1⁄4
Distance between heads ..................................... 1⁄4
Circumference of bulge, outside measurement .. 11⁄2

(b) Class 2 shall include all barrels at 
least one dimension of which is in error 
by more than the amounts given above, 
but which in addition have at least one 
dimension in error in the opposite di-
rection. (This class includes all barrels 
mentioned in section 1 of the law in the 
proviso reading: ‘‘Provided, That any 
barrel of a different form having a ca-
pacity of seven thousand and fifty-six 
cubic inches shall be a standard bar-
rel.’’) 

(Sec. 1, 38 Stat. 1186; 15 U.S.C. 234)

§ 241.7 Tolerances to be allowed. 
(a) The tolerances to be allowed in 

excess or in deficiency on the dimen-
sions of all barrels of Class 1 shall be as 
follows:

Tolerance 
inches

Diameter of head ................................................. 1⁄4
Effective diameter of head .................................. 1⁄4
Distance between heads ..................................... 1⁄4
Circumference of bulge, outside measurement .. 11⁄2
Length of stave .................................................... 1⁄2

(1) If no dimension of a barrel of 
Class 1 is in error by more than the tol-
erance given above, then the barrel is 
within the tolerance allowed. 

(2) If one or more of the dimensions 
of a barrel of Class 1 is in error by more 
than the tolerance given above, then 
the barrel is not within the tolerance 
allowed. 

(b) The tolerance to be allowed in ex-
cess or in deficiency on all barrels of 
Class 2 shall be 11⁄2 inches (1.5) inches, 
and this tolerance is to be applied to 
the result obtained by the application 
of the following rule: 

(1) Having determined the errors of 
each dimension and given to each its 
proper sign (see § 241.4), add the errors 
on the effective diameter of head and 
the distance between heads algebra-
ically and multiply the result by 1.67 
(or 5⁄3). Then add this result to the 
error on the circumference of bulge al-
gebraically. If the result obtained is 
not greater than the tolerance given 
above, then the barrel is within the tol-

erance allowed; if the result is greater 
than this tolerance, then the barrel is 
not within the tolerance allowed.

NOTE: To find the algebraic sum of a num-
ber of quantities having different signs, first 
add all those having one sign; then add all 
those having the opposite sign; then subtract 
the smaller sum from the larger, giving this 
result the sign of the larger quantity.

(2) [Reserved] 
(c) The tolerance to be allowed in ex-

cess or in deficiency on the dimensions 
of all barrels for cranberries shall be as 
follows:

Tolerance, 
inches

Diameter of head ................................................. 1⁄4
Effective diameter of head .................................. 1⁄4
Distance between heads ..................................... 1⁄4
Circumference of bulge, outside measurement .. 13⁄8
Length of stave .................................................... 1⁄2

(1) If no dimension of a barrel for 
cranberries is in error by more than 
the tolerance given above, then the 
barrel is within the tolerance allowed. 

(2) If one or more of the dimensions 
of a barrel for cranberries is in error by 
more than the tolerance given above, 
then the barrel is not within the toler-
ance allowed. 

(d) The tolerances to be allowed in 
excess or in deficiency on all subdivi-
sions of the standard barrel for fruits, 
vegetables, and other dry commodities 
other than cranberries, and on all sub-
divisions of the standard barrel for 
cranberries, shall be the values given 
in the following table, and these toler-
ances are to be applied to the result ob-
tained by the application of the fol-
lowing rule: 

(1) Having determined the errors on 
each dimension and given to each its 
proper sign (see § 241.5), add the errors 
on the effective diameter of head and 
the distance between heads algebra-
ically and multiply the result by 1.67 
(or 5⁄3). Then add this result to the 
error on the circumference of bulge al-
gebraically. If the result obtained is 
not greater than the tolerance given in 
the following table for the proper sub-
division, then the barrel is within the 
tolerance allowed; if the result is 
greater than this tolerance, then the 
barrel is not within the tolerance al-
lowed.
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Size of subdivision 

Tolerance 

For fruits, 
vegetables, 

and other dry 
commodities 

(inches) 

For cran-
berries 
(inches) 

3⁄4 barrel ............................. 13⁄8 (1.375) 11⁄4 (1.25) 
1⁄2 barrel ............................. 11⁄4 (1.25) 11⁄8 (1.125) 
1⁄3 barrel ............................. 11⁄8 (1.125) 1 (1.00) 
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